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Solution

‘q(73):77(73)+13+1—§:21+1375:29

Since f is a root function, the minimum value of the function is 0. Also, 4x* has
minimum value 0, so the maximum value of f is v16 =4. Since all values in between

those two are also achievable, the rangeis 0< y<4 or [0, 4] .

2 3 2x+3(2x+3)  8x+9 . Lo 280 43x
= = , so the reciprocal expression is

h(x)= = =— .
2x+3 x x(2x+3)  2x*+3x 8x+9
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The resulting functions, in order, are f(x)*ﬁ. f(x+4)76,and f(—x+4)-6,
so g(x)=f(—x+4)-6.

P 3+
h(x):xi +4x* 73:(x+1)(x2 +3xf3) ,so the roots of hare —1 and 377\/2_1 The

. . —3+421 .
only positive root of the three is ————, so it is the greatest.
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=f(5)=f(f(2)=fF(f(1+1))=|f(1+3)+2=|f (4)| =2= f(4) =#2. However,

4)=f(f(

5

))=£(f(4+1)=|f (4+3)

+2>0, implying that f(4)=2 only.





